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BIOLOGY GROUP- NN~ I~ 25 ; e ..wf G

TIME ALLOWED: 15 Minutes .OBJECTI\*E Sff' s w16 = &b
!/

MAXIMUM MARKS: 12 | 122 AJ
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Note: You have'four choices for ac objective type quesﬁo  as A, B, Cand D. The chojce .q‘,xféd”faamr

which you think is correct; fill that bt bbie in front of that Aue tion number, on punble sheet. Use marker oF pen

to %lll the bubbles. Cutting dr filling tywo or more bubbles. wiit result In zero mark In that yestion. No credit will be

awarded In casé BUBBL.EQ arg not ﬁzl ad. Do not solve quéstlons on this ghest of 6BJEk:TNE PAPER.
; [

@.No.1 A A

(1) Sewage water is purifigd by the use of: = ;',.‘qu;dv“*flé..ﬁé_f..ﬂm.’-ié‘x ("

(A) Microbes ::.v.‘? \ : (B_)‘ Hormoned Y74 {©) Bacterial epzymes ,'-jl‘}:,iv;/}ga (D) Minerais P

(2) Tincture of iodine 18 obtained frorr‘i\: _ﬁ;_,m,g’,_v"a,,u; W 74 2

(A) Fungus & R (B) Plants PREE (©) Animals et (D) Mineralé i
(3) During exercise the breathing I[ate may increase uP.’io: i ¥ \_'!a’."{-fLJlﬁMu"faa:w‘z‘h-;(jm (®
(A) 30 - 40 imes per minute sl 40 .30 B ;g;,y‘zo - 3 times per minute o 30 =20
(o3} 16 - 20 times per minute e 20 18 ) (D\ 16 - 46 times per minute 2t 40 16
(4) Which one of the following i8.not ;ian organ of homeésta_s};.v,;? E ':‘ﬁ.wt-";:fTKﬂ ;;'nvu:}.w@;,,,’_ Sk (4)

o) Lungs < B KO * (CrHear M (D) Kidriey —
et U Ly ®

(5) In chemical coordination, the &9 rdinators are:

() Brain ¢« (B) gndocring glands J;v-fdlﬁﬁ;':'r!'ii (C) Spinal cord Wy D) Exocrine glands S A

(6) Poliination Is 2 process in which pollen grains aré transf‘errég 1o o By Jhp ST BAT AT
(A) Ovary L ‘ -(B) iﬁtyla .;J e ’ () Ovui% @unl (D) Stigma -
(7) Actually, an immature plént Is. ‘ " " -4.1,;{:.,:,4« WS 7
(A) Embryo 1A (B) Endosperm (,4:)@;—;@5107 Ovule Ji! | (D) Radical i
(8) The percentage of gperme ih semen is: (. e ’ 7 -4.8yul}m" g ;J.“.wr &
(A) 2 18% (B) 2 10% B (TR 5% (D) 44 80 %

b "‘ .”\.":l. 1’“ %
©(9) The unit of inheritance is called: s E L Jusths (?)

; . I - Por

(A Chromosome.;m/ (B) DNA iyl (@) Gene o (D) RNA «ils'

(10) The specific combination of genes th an individual 18 callect: ‘ .q,vq{ﬂ’{j,»;w,,ﬁ,)g’ (10)
w?um (B} Phenctyp? ..(’L*;é (C) Heterbzygous J:ﬁ’n/ ,«'([Zt) Genotype A

(A) Homozygous |
~?FP@:PJ$}"W{:¢"”}% )

N conversion of nitrogen gae into nitrates ie catléd:
i v ;

(A) Nitrogen fixation et : (B) As*supilatwn J"d:'
(C) Denitrification Sl G (0) Ammonification ok

(12) To fulfl their nitrogén reqyirements ca[nivorous plants eal Wugauf'.,{...f,i,,ﬁ;..v;;.ap;)&;ﬁg,‘—’t@,f"ig_},y g (12)
(A Pungus L& (B) Inseats =~ (C) Worms 42 (D) Bacteria 3.4

o el Pe10023(181A)-50000 (MLLTAN)

ki i G




2023 (1st-A)

SSC PARTHI (10th CLASS)

BIOLOGY iGROUP—I NN Tl 12>

TIME ALLOWEF: 1.45 Hours

MAXIMUM MARKS: 48 |
NOTE: Write same guastion nimber
and lts part number ¢n answer book,
| SECTION: o2

2. Attempt any five pané. 10=2x8

@  Whatis rneant by gageous exchénge?

(ly  Describe functions of \hsp‘lraﬂonf

() write symptoms of Emphysema,.

(ivy What {s meant by Osmorégulati‘én?

(v) Define Excretio!n.

(vi) Whatls meant by stimulus?

(Yil) Briafly describe structure and function of sensory neuroné
(i) What s hyperthyreidiem?' Write its symptoms:

§UBJEQT|VE el

_ﬁ*@z:ﬁ;-{.gir,ﬂté GJJ/:}JZJQM?LJV@%QVL}'%

as given In the

48

question paper.
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3. Attempt any five parts: 10=2x5

o Differantiate between biceps arjd triceps muscles. _,r*,{J)uyJ}adi.‘V J‘;’,'Sl}mu’f &0
@y Whatare Tendona? : x Sy ier Yok ()
@y Whatis meant ty Fragmentatt n? gt e S¥ y JRR()
(v) Differentiate between external fertiljzation and i IPpnlf I .3.5”!/&:/1!»@*‘:/"115,5\,}:’2} [dse W)

internal fertilizattén. ; B .

) What ls meant by co-domlnanére? gl e o A v)
i) Write the genotype of blood group "A". _4048;».’.?6 “A",.;uflk (V)
iy State Law of Segregation. ' -éfuwt’*“/gdfpu (vil

(aify Differentiate betwaenlomoiygous and haterozygous genotybe. £ b Jgugf',:m' qurn (vilf

4. Attempt any five parts. 10 =2 X \’T -4[; Mm&wég‘:,éf Aj-.’dbf
0] Write the role of decomposers In an ecosystem. ‘u.‘.’gl:fu‘l(“'?: ¥ JJJ);(U T
@y  Differentiate petwéen food chain and food wab. .{f'a)uwé.ﬁ,n}, ag%sy ()
@iy Define Commang,:ausmi ‘ ‘ -,4«5.4{55./%}'! (i)
(v) Whatdoyou mean by afforestation? ?4,,:/'%,,1,;..:&:-.-, gy, (W)
vy Define Single-Cell Protein. -e‘,gui!/d'wf:u;u"'«tf"__. B\
(vi) DEﬂn'e genetic engineering. h et Y1 ) Sp (\,l)
(viiy 'D:‘eﬂne gynthatic drugs and w;rlta its one examplg. -#‘U%QJJ wg{w’e/’&--s'»iuﬁv {vil)
(i) Write two uses of nafcotics. | .J@uwngwﬁc (VQH)

SECTION-I fues '

NOTE: Attemptany two questions. 18=9x2 -g’*;;/é:gw&@ uim.sz.éf oy
5.(A) Write a note on horeostasis in humans. 4 'ﬁga’/,"“%ﬂ’f’:jdm 5““”‘*5
(8) Desoribs functions and Internal stfuqture df bone. 15 ..J“.fugtwvéuxw\)\é»_id% (.,-)}i
6.(A) Writea flote on spinal cord. % -;;'YS.-:Q saq’f (3 $..JJ#.-6
(B) wvrite structure of & flower. Alsp draw labelled diagram. 5 -V‘f‘w’:ﬁ}ﬂ -43.:.-5\,‘,5/;):4 ()
7.(A) erté four basic steps in genetic enginaering. L -\,'.:’j.{pi.'!}ld;}fulgéj ad e (IN-T

| 5 v s 5 sy it ikl G




PAPER CODE 2023 (18tA) 3 ey

NUMBER: 3466 5SC PART-I (10th CLASS)
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BIOLOGY  GROUPI PNTN-Y a5 = we/ SAEY
TIME ALLOWED: 18 Minutes OBJECTIVE G 15 = G
MAX!MUM MARKS: 12 : 12# /.U{

ol | S PR IR WL £ v u,ftix..g.:z,vLJtyq,,QK&tf pLi D A CBA ez s whd

{..;44';'1)’ i -fbbpﬂf@fu‘ .MHJLL;, :‘:J:/l: ufﬂ./yﬁkli.,-l.?uuuu&Jﬂ! - j:é/ub i .J..,f fwﬂmg./..w (i)

Note: You have four cholces for sach objective {ypq guestion as A, B, Clend D. The cholcé -uj):.)'/,:.ww

which you think s correct jilll that bubble in front of that question number, on ‘bubble shoeet. Use marker or pen

to fill the bubbles. Cutting of  filling two of more bubbles wili result in zefd mark in that quastlbn No credit will b

awarded In case BUBBLES are not fl||ed Do not solve qﬁestlons on this shest of -:)BJE&T!VE PAPER. :
A Ay

AR 'u_&u»/u’)/?wﬁ.fz,ﬁ )

Q.No.1
(1) Development of new offspring from unfertilized egg is can?d:

(A Parthenogenesls W -";»’3 (8 Budd\ng L (C;Fragmentatlon .;““" 5 (D) Binary figsion o ,5 sk
- ’»J:v..—fd"b;.—:.ﬁf e g Pl GG @

tissue or cell of single parent to préduce identical offspring Is.
(B) Grafting €85 (C) Pollingtion #5)y  (D)Cloning it
ITERITRE S (3)

(2) The |atest method of usmg vegetaiive

(A) Guitings wé,_’
(3) Ynitof inhetitahoe is: |

‘ (A) Chromosome s (B) Nucleus ‘ﬁ».:: () Gene u.'.* (D) DNA a-tet v
(4) The expression of human—b\ood grwp AB Is an exampie of. r\er SIY AB ,.»._Jw 4)
(A) Co-dominanceé .,/’“ 1ud B} Complete doml-na.)ce J’”V b
() Incomplete dominanoé o8] ) Recesslve trait = -’\w..«y‘*"
(5) The abiotid cpmponent of an ecoSyatem is. ; gt B N TR
(A) Producers /-4 (B; Consumers e 8 Decomposers s ~‘g‘5 (D) Light S

L, Uit sl ©

(6) The numbers of trophic jevels In a food chian are usually: it 8
(A) 2-3 B) 3-4 ) 45 . . (O §-6
(7) Apain Kiltbr produced py the braln is: , . _....J;:’( JC»._J s...m o ()
(A) Beta endorphin y’/wluj (B) Thymosin Dt i) Urok]nasegé"s;q o Interferons 5y S

(8) The cardiotonic used tg stlmu\ate the heart is. oy 5 .uo"...- iy ffd: (8)

(A) Morphine l;,fi (B} Diazepam (" u MW i) Paracatamol e sa (D) D\gltaus o 53

) The amount of carbon.dioxide In expired air is! ...-:'-::.4!.\3’0» V’t&}': St ”‘JW—MOJW&W"J --«»-J)V ®
(A) 0.04% (B) 1% ) 2% ‘D) 4%

(10) The maintenance of the Interna\ »a.w’ LaC,fo 1 w'lq'.:‘.-llba,uil.':.;‘";‘ ny,yL.;_,.Tuu,.,,w A (10

n the external environment i called:

conditions of the pody at equ\llbrlum desplte changes i
Thermoreguldtlom ":.-Jr‘; (D) Metabouum r):’l/

(A) Homeostasis S (8 Osmoregulationﬂr oy {C)

(11) Any change in snvironment ___3,1{ o lv,,Jr wzulgi’u s u,wdua-nu" ( d-’:u” S3am )7 (1?)
(Internal and extemal) which can provoke & respunse in organism 1 called:
(A) Responge ' Y (B) Effect 2 (¢ Stimulus J’ W ﬂ)) Coordination ' iy
(12) The example of mn‘iovable(fh(ed} joints st : i 2l e ries el

(A) Jointg between skull bories w:_;,ly,-:.f_’.ug}y\!g,‘- ny?  1B) Joints between fn-venebrae Sy e $ s
(C) Shoulder joint &1 (T D) Hip joint &2 i

oaton TR IR)-202518t-A)-50000 (MULTAN)




2023 (1st-A) . A
sSC PARTI (10th CLASS)

BIOLOGY  GROUPHI A Tl 27 23 b - e/ G
TIME ALLOWED: 1,48 Houre SUBJECTIVE 4 Bl a5 = &h
MAXIMUM MARKS: 48 | . s = AS
NOTE: Write same guestion number -q—(w:g)ﬁ;.— ,.gwfz' @J)/?:;zm/?dlruh_;q&}w il
and its part number on answor book, a8 given In the question papet.
SECTION: (Jils o
5. Attempt any five parts. 10=2x5 S wlimbyedf _2/ 4w
() Whatls the difference batwesn stomata and lenticels? 141 L MU Foru 0
) Write two n'}a]or synﬁr')to_rns of Asthima. 1+1 : -é‘:{j@buijﬁc'ld:') QI)
i) Wit two bad effects gf smoking. 141 _ .424"@1}14..55:; e )
(vy Whatls dialysis? Neme its two methods. 10 Y% Lyl ey W
() Nameiwo major organs wnlcﬁ work for 1 +1 ' Lqﬁc“!‘,&, }5’(4._-'/.»1.»:.’./(5’4.& L an s S ™
homeostasls in kuman.’ ’
(viy Whatare affectors? Give an example. 1+1 -é:dt‘«‘-—&" S.‘u:-'fiﬁg?' (V{)
(il ~ Define nerve impulse. : 2 ..;dg-.—é{,;'\;-.fhili i)
(vi) Which do hormonas regulate the jeve! of calcium fons in plood? 141 S‘qu/U,jv”ZU;d.fl'/"' Tﬁ‘-’cfm,.:, g fgd (Vi)
3. Attemptany five pafts. : 10=2x8 &2 a«ymérmégpé{ -3/.?‘.)'}’ .

AL AT
?g_.,s/g.—....,f’"ww )
v T
(v)  Write structure of Brydphylluﬁ‘t. -40.‘-:'-* v Al (iv)
()  Wite colours of flowers of Four-0-Clock Plant. -q,“.(}.p@;!&:’:éé.:.){.fﬁ_:'d? {v)

ATy A\

S g N D)

@y Write down fungtions of human skeleton.
)] What Is meant by chondvlccytes?
@y Define parthenogenesis.

(vl Write down sources of variations.

(vil) What is meant bY thaory of spe ial ereation? ;

(i) What s meant by Artificial seledtion? 94.,ygﬁ-..5; pdee (i
4. Attempt any five parts. 10=2%5 -g..f;f.-,ym;lznég‘:.és’ a4y
@  Define plosphere and write ite thickness. - Y ',v,tiu;fib’w‘uufu‘y A «-" ¥y U]
(y  Howdoes enargy flow in an ecosystemn? ﬁ'{,fwrdf sw&é-,ﬁf/ %l (m
(i) ‘\What gre eoolcgical' byra_mlds?' How many types of these ara? Ll )o’"; sy 4 gf,%h‘;f (I (1)

(v)  Differentiate petween agtoparasites snd -.j:ﬂ@lezalg,fJ/Uk-"JLu" gl 4 u"'v":"-fg P

endoparasites and give thetr e}@mp\es.
7 it T
(vj  How does b!otechno\Ofy help ﬁo deal with Vq.dbﬁ:hbf\;ﬁ.;’l:-at: @Léf;dv-.)‘ﬁ»ﬁ» ™)
environmentai issues '

(v How pickles, fruits and vegetables aré preserved by ferment'atnon? ?q.t'lgw}“qi q‘z}Lc,r*-‘"‘;‘fug oot Y )

“'w:’;é‘ﬁé:'uﬁfv,ryﬂw (vii)
?UJGVJJW'%;WJWQ S Pl K (viii)

(viy  Write ‘sources of mescaline and psitocin.
i (viity  What ls meant Ly yacoines?
! For which purgose 40 vaccines use?

' ‘ '  SECTION-l (22
. NOTE: Attémptany two questions. 1B=9%2 ‘gi; Felple Pyssan ..J.UL
’ |

|5.(A) How do plants get nd of extr 4 LS O LA Vlu"—‘?"@-""f’ﬁ'd'f5¢f‘/'g/"d';5” 0% S ot :("m'i
water and carbon didwide? Explain. ' ' ' '

(B) Whatlsa pone? Describe ita structure and types. ,g,;uwuw-,-.»m ?u,tié (Bone) q}#{ (w)

S "’('f | hﬁ%JJﬂ,‘w’} (w6

AR

6.(A) Explain Reflax Arc with labellad diagram. 2+2%= ',4
(8) Write a note on followings: 5 -g;'fgf...'.!ﬁ;vj,‘-g, JOR )
Grafting ( Js84 ) NV cutidg (G5 O
. rieon in manatin andineering 4 _,;S;,f"d’g/d,y-.é.f 2 q,ah)_'{
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